- = e Yo - . a4 »\’ o v
. ) .
. o - .
. — " ) of
. PR

You want the best out of this Machine, Give this
_handbook to the man who has to look after it.

BOOK 312/1052 ~ PRICES/

INSTRUCTION BOOK

AND

SPARE PARTS LIST

A. C.
START - O - MATIC
ELECTRIC GENERATING PLANT

R. A LISTER & CO. LTD,
DURSLEY, GLOUCESTERSHIRE,
ENGLAND




o iEall |

INDEX

GENERAL DESCRIPTION

SYSTEM OF OPERATION—GENERAL
SYSTEM OF OPERATION—DETAIL
INSTALLATION

OPERATION

MAINTENANCE

HINTS ON FAULT FINDING

PARTS LIST

WIRING DIAGRAMS & ILLUSTRATIONS

RECOMMENDED SPARE PARTS FOR STOCK ...

Page

[\

9

10

11

13

34




L . )

THE LISTER A.C. START-O-MATIC GENERATING PLANT

2.5 kW, 230 volts. 50 cycles.
2.5 kW, 110 volts. 60 cycles.

General Description

The A.C. Start-O-Matic Generating Plant is entirely automatic in operation, starting up when

“heater or small motor, with a consumption of 40 watts or more is switched on and

continuing to run until all such appliances have been switched off.

The Plant incorporates the Lister type 5/1 Single Cylinder Water-cooled Diesel Engine,
developing 6 B.H.P. at 650 RP.M. Full details are given in Engine Instruction Book No. 103.

The Alternator is of the self-excited rotating armature type. The armature carries two sets
of windings, one the A.C. winding which is connected to a pair of slip-rings and the other the D.C.

winding which is connected to a commutator and provides excitation current to the main field C N

system. The alternator also incorporates series starting windings which combine with the D.C.
armature winding to act as a series motor for cranking the engine. An auxiliary field winding is
used in conjunction with a choke or current transformer and rectifier or rectifier and compound
trimming resistance to provide the required voltage control.

CONTROL GEAR.

The bulk of the controlling switchgear is housed in a dust-proof cubicle. An exception is the
starting contactor which is housed in a sheet steel cubicle mounted on the Alternator. This
cubicle also contains the voltage regulation equipment.

STARTER BATTERY.

The 12 cell (24 volt) starter battery has a capacity of 100 ampere hours at the 20 hour rate,
or 89 ampere hours at the 10 hour rate. A standard automobile battery is recommended and
may be installed in two 6 cell units or four 3 cell units.

Alternatively, a battery comprising 20 nickel steel or nickel cadmium cells with an Alkaline
Electrolite can be used. The capacity must be at least 75 A.H. at the 10 hour rate of discharge.

The battery is charged from the D.C. armature windings whilst the plant is running and a
change-over link is provided in the switchgear cubicle, its two positions giving alternatively ‘ high
charge * or ‘low charge’

General Description of the System of Operation

The system of operation is described in complete detail on Page 6 but the following will serve
to give a general outline of the scheme.

(1) PRELIMINARY.

On switching on a lamp, current flows from the 24 volt battery through the lamp and the
detection coil of the load relay, which closes its contacts and feeds the load contactor coil.

(2) TURNING ON THE FUEL.

The load contactor, on closing its auxiliary contact, energizes the fuel control solenoid, thus
allowing the fuel pump rack to move to the “’start ™ position.

(3) CRANKING THE ENGINE.

‘The load contactor also completes a circuit to the coil of the starting contactor, which on
closing its main contacts, connects the battery to the series starting windings and the D.C. armature
winding of the self-excited alternator. The armature and starting windings behave as a series
motor, thus rotating the engine.

2

L




L L

(4) STOP CRANKING WHEN ENGINE FIRES AND IS GETTING AWAY.

The speed detection switch is operated by the engine governor lever. This switch on making
contact, energizes a relay which breaks the circuit to the starting contactor coil. (This relay is
provided also with separate contacts which complete the circuit for re-charging the starter battery).

(5) CLOSING OF MAIN SWITCH CONNECTING PLANT TO THE LOAD CIRCUIT.

The main contact of the load contactor completes the circuit from the alternator to the load
circuit immediately the load relay operates. The plant will then continue to run until all the load
has been switched off.

NOTE: If an initial demand is made and then immediately switched off, the plant will
complete a full starting cycle before coming to rest.

A complete index of all alternator windings and control gear is given on the following pages.
together with the precise duty of each coil and contact.

Reference should be made to the following illustrations:—

Schematic Connecting Diagram ve. . ... Figs. 4 & 5.

Back of Board Wiring Diagram ... ... ... Fig. 6. (7TR4QR & K Series Alternators).
Back of Board Wiring Diagram vev we. ... Fig. 7. (684QR Series Alternators).
Tlustration of Control Cubicle ... ... ... ... Fig. 8

Contacts are referred to throughout as being normally closed (N/C) or normally open (N/O).
N/C indicates that the contact is closed when its operating coil is de-energised.
N/Q indicates that the contact is open when its operating coil is de-energised.

Item and Deseription

Index
Letter

A. BATTERY CHARGE AMMETER. Centre zero type ammeter. Indicates value of
battery charging current when plant is running.

AA. ALTERNATOR A.C. WINDINGS. Connected to a pair of slip-rings from which is
taken the load current. ‘

AD. ALTERNATOR D.C. WINDINGS. These are wound in the same slots as the A.C.
windings. but are connected to a commutator. Their purpose is to provide excitation
current for the field coils MF and also for re-charging the starting battery. These
»;;indings also combine with the starting windings SSF to act as a series motor for cranking
the engine. '

AF. AUXILIARY FIELD WINDING. Used in conjunction with the rectifier MR and the
current transformer C (TR4QR & K Series Alternators) or the rectifier MR1 and compound
trimming resistance CT (6S4QR Series Alternators) to provide the necessary voltage

control.
B.F. BATTERY FUSE. Protects the starting circuit in the event of the engine stalling.
C. CURRENT TRANSFORMER (7R4QR & K Series Alternators). Used in the voltage

regulation circuit, current proportional to the load current, is fed through the auxiliary
field winding AF, so that as load increases the excitation of the machine is increased.
Various tappings are provided which are selected on test to give the best results.

CR. BATTERY CHARGING RESISTANCE. Controls the value of the charging current
given to the battery whilst the plant is running. A change-over link L2 is provided on the
panel to give “ high charge ” or “low charge” depending on operating conditions. The
value of the “high charge” and “low charge” currents can be varied if necessary by
adjustment of the slider clips on the resistances.

CT. COMPOUND TRIMMING RESISTANCE (6S4QR Series ONLY). This resistance is
used for tuning the auxiliary field circuit and has been set to give the correct “ FULL
LOAD” voltage.

3




DR.

ES.

ER.

FCS.

FR.

FR.

K/1.

K/2.

L.1.

L.2.

1

.2

DISCHARGE RESISTANCE. Connected in parallel with the Fuel Control Solenoid
FCS. Its object is to protect the contacts controlling FCS.

ENGINE SPEED DETECTION SWITCH. This switch is mounted on the engine and
its contact ES/1 is controlled by the engine governor lever. It operates on the change of
speed from motoring to running.

ECONOMY RESISTANCE. Inserted in series with the Fuel Control Solenoid FCS
when contact N/1 is opened. Tts purpose is to limit the current passing through the coil
after its initial operation.

FUEL CONTROL SOLENOID. This solenoid is mounted on the engine and controls
a lever operating the fuel pump rack. When stopping the plant this solenoid is
de-energized thus allowing a spring to move the fuel pump rack to the *“ off ™ position.

MAIN FIELD RHEOSTAT (7R4QR & K Series Alternators ONLY). Controls the
current flowing in the main field circuit. It is of the preset type and is mounted on the
sheet metal cubicle on the alternator. This rheostat is set to give the correct “NO
LOAD ” voltage.

AUXILIARY FIELD RESISTANCE (7R4QR & K Series Alternators ONLY). This
resistance is used for tuning the auxiliary field circuit and has been set to give the correct
“FULL LOAD” voltage.

MAIN FIELD RHEOSTAT (654QR Series ONLY). The top half controls the current
flowing in the main field circuit, while the bottom half acts as an extra resistance in the
battery charging circuit. Tt is of the preset type and is mounted on the sheet metal cubicle
on the alternator. This rheostat is set to give the correct “ NO LOAD > voltage.

CIRCUIT BREAKER DELAY RELAY. This relav is of the “thermal” type and
consists of a “Bi-metal” strip upon which is wound a heater winding electrically
connected in parallel with the starting contactor coil SC and is thu$ energized all the time
the plant is motoring. A similar “ Bi-metal ” strin, which has no heater winding is
mounted alongside the wound strip, which after 45 seconds warps sufficiently for the two
strips to make contact. Under normal circumstances the feed to the heater winding is
broken by contact N/3 before this time has elapsed. The two strips mounted side by side
automatically compensate for changes in room temperature.

N/O Contact. Under conditions of plant failure. this contact on closing energizes
the circuit-breaker trip coil K.

CIRCUIT BREAKER. The contacts of this switch are held in the closed position by
means of a toggle mechanism which is released when the circuit breaker trip coil is
energized by the delay relay contacts J/1. The contacts are opened by the spring tension
of the contact fingers. The circuit breaker can be tripped by hand if necessary.

Held in closed position. When the circuit-breaker is tripped this contact opens and
breaks the feed to the load contactor coil P, which on opening its contact P/2 breaks the
feed to FCS, ES, SC. J & K, thus isolating the engine control circuits from the battery.
P/2 opens and isolates the main load circuit.

Held in closed position. On opening breaks the detection circuit through load relay coil
TDC thus isolating the load circuit from the battery.

LOAD CIRCUIT CHANGE-OVER LINK. This link is used when failure of the
automatic control gear renders the plant unusable. It enables the plant to be run direct
on the load circuit and instructions will be found on Page 12.

BATTERY CHARGING CHANGE-OVER LINK. This link gives a choice between
“high charge’ and ‘low charge’ and its position will depend upon operating conditions.

4

e



MF.

MR.

MR.L.

N/1.
N/2.

N/3.

P/l
P2
SB.

SC.

SC/1.

SSF.

T/1.

MAIN FIELD WINDING. This field winding provides the main excitation of the
alternator. It is energized from the Alternator D.C. windings.

VOLTAGE REGULATION RECTIFIER (7R4QR & K Series Alternators ONLY).
This is a full-wave metal rectifier and rectifies the alternating current output from the
current transformer C to direct current which is fed to the auxiliary field AF.

VOLTAGE REGULATION RECTIFIER (6S4QR Series Alternators ONLY). This is
a full-wave metal rectifier through which part of the main alternator current flows; the
rectified direct current is then fed through the auxiliary field A.F.

CHARGE CONTACTOR. This contactor has one main and two auxiliary contacts. Its
coil is energized from the 24 volt battery when Engine Speed Detection Switch Contact
ES/1 closes.

N/C Contact. On opening inserts Economy Resistance ER in series with fuel control
solenoid FCS.

N/O Contact. On closing completes the battery charging circuit from the charging
resistance CR to battery positive.

N/C Contact. On opening breaks the feed to coils SC, J and TDC.

LOAD CONTACTOR. This contactor has one main and one auxiliary contact. Its coil
is energized from the 24 volt battery immediately the load relay contacts T/l close.

N/O Coptact. Completes main circuit from alternator to load circuit.
N/O Contact. Completes circuit to control coils FCS, N, SC, J, and K.

24 VOLT STARTER BATTERY. This battery is of the stundurd automobile type,
having 12 cells rated 100 ampere hour capacity at the 20 hour rate or 89 ampere hours
at the 10 hour rate.

STARTING CONTACTOR. This contactor has one main contact. lts coil is energized
from the 24 volt battery when contact P/2 closes and the feed is broken when contact
N/3 opens.

N/O Contact. Completes main starting circuit from battery positive to series starting
field SSF and D.C. windings AD.

SERIES STARTING FIELD WINDING. Incorporated in alternator. Operates in
conjunction with starter battery and D.C. armature winding to give the necessary torque
for cranking the engine.

LOAD RELAY. This relay comprises two separate coils on two separate iron circuits.
The one coil TDC is energized by direct current from the battery and is used for initial
detection and also as a hold-on coil during the starting cycle. .

The other coil TAC is in the main A.C. circuit and takes over from the D.C. coil when
the plant is up to speed.

N/O Contact. Completes circuit to the load contactor coil P, which on operating
institutes starting cycle.




Detail of System of Operation of
A.C. Start-0-Matic Generating Plant

(1) LOAD IS SWITCHED ON TO STATIONARY PLANT.

Referring to Fig. 1 when load is switched on, the detection circuit is completed as follows:—
Starting from Battery positive current flows through the Charge Ammeter A, Charge Contactor
Contact N/3, Circuit Breaker Contact K/2, Load Relay Coil 1DC, Change-over Link L1 to the
Load and returns through the Current Transformer C or the Compound Trimming Resistance
CT, the Alternator Windings AA and Battery Fuse BF to Battery negative.

(2) LOAD RELAY CONTACT CLOSES GIVING FEED TO LOAD CONTACIOR.

Still referring to Fig. 1, the closing of Load Relay Contact T/l completes the circuit to the
Load Contactor Coil P, the circuit from Battery positive being through the Charge Ammeter A,
Circuit Breaker Contact K/1, Load Relay Contact T/1, to the Load Contacior Coii P, and
returning via Battery Fuse BF to battery negative.

(3) LOAD CONTACTOR OPERATES COMPLETING MAIN CIRCUIT AND CIRCUIT TO
CONTROL COILS.

Referring to Fig. 2 as soon as the Load Contactor operates, its main contact P/1 completes
the circuit trom the alternator winding to the load circuit through the Load Relay A.C. coil TAC.

The closing of Contact P/l also completes a maintaining circuit which is operative throughout
the starting cycle. ‘lhe 1eature of the maintaining circuit 1s to ensure that once a load demand
has been made, the plant will complete a full stariing cycle pefore shutting down even though the
10ad has been switched off almost immediately after being switched on. 1his prevents the starting
contactor contacts SC/1 from breaking heavy starting surges.

The maintaining circuit is as follows. Starting from B +’ve through Charge Ammeter A,
Charge Contactor Contact N/3, Circuit Breaker Contact K/2, Load Retay Cou TDC, Chunge
Over Link L1, Load Relay Coil TAC, Battery Fuse BF and so to Battery -’ve. The Load Relay
Coil TDC then keeps contact T/1 closed. The maintaining circuit is broken when the plant is up
1o speed and contact N/3 opens.

Contact P;2 on closing completes a circuit to the various control coils, FCS, SC and J, us
described in the following sections.

(4) FUEL IS SWITCHED ON. Fig. 2.

With the closing of Contact P/2 a circuit is completed from Battery - ve through the Battery
Fuse BF, and contact P/2 to the Fuel Control Solenoid FCS returning through Charge Contactor
Contact N/l and charge Ammeter to Battery +’ve. On operating, the Fuel Control Solenoid
FCS allows the fuel pump rack to move to the “start” position.

(5) STARTING CONTACTOR IS ENERGIZED AND CLOSES ITS CONTACT—Fig. 2.

The closing of Contact P/2 also energizes the starting Contactor Coil SC. The circuit from
Battery -'ve is through Battery Fuse BF, Contact P/2, Starting Contactor Coil SC, returning to
Battery +’ve through Charge Contactor Contact N/3 and the Charge Ammeter A.

The Starting Contactor on closing its contact SC/1 completes the main starting circuit from
Battery +’ve to the series Starting Field Winding SSF, and the D.C. Armature winding AD, and
so back through the Battery Fuse BF to Battery —’ve. The series winding and armature behave
as a high torque motor thus cranking the engine for starting.

(6) ENGINE FIRES AND RUNS UP TO SPEED: VOLTAGE IS GENERATED ACROSS THE
SLIP RINGS—TFig. 3.
The Engine is now rotated; fuel is being delivered to the injector, and after a few revolutions
the engine will fire and run up to speed.
A voltage is generated across the slip rings and at a predetermined speed the engine speed
detection switch ES/1 makes contact thus energizing the charge Contactor N.

6

C

-



(7) ENGINE SPEED DETECTION CONTACT CLOSES THEREBY ENERGIZING CHARGE
CONTACTOR—Fig. 3.

With the closing of the engine speed detection contact ES/l a circuit is completed from
Battery -’ve through the Battery Fuse BF, load Contactor Contact P/2 and Speed Detection
Contact ES/1 to the Charge Contactor Coil N. The return to Battery +’ve is through the charge
ammeter. On operating, the charge contactor affects three separate circuits as follows:

(a) Contact N/1 opens and thereby inserts the economy resistance ER in series with the fuel
control Solenoid FCS.

(b) Contact N/2 closes and completes the battery cha_rging (;ircuit from the positive terminal
of the excitation armature AD, through the battery charging resistance CR, contact N/2 and the
charge ammeter to Battery ~’ve.

(e) Contact N/3 opens and breaks the circuit to the starting contactor Coil SC and the Circuit
Breaker Delay J. Tt also breaks the detection and maintaining circuit through the load relay Coil
TDC.

(8) LINE VOLTAGE REACHES MAXIMUM. PLANT CONTINUES TO RUN UNTIL LOAD
IS SWITCHED OFF.
The line voltage will now have reached its correct value and the plant will continue to run
until the last 40 watt lamp is switched off. thereby opening the load relay contact T/1.

(9) SHUT DOWN OF PLANT.

As stated in the preceding section the plant shuts down when the last 40 watt lamp is switched
off. This allows the load relay contact T/l to open which in turn breaks the feed to the Load
Contactor Coil P. Contact P2 then breuks the feed to the Fuel Control Solenoid FCS which on
being de-energized allows the fuel pump rack to be moved to the “ off ™ position under the action
of tension springs.

PLANT FAILURE AT STARTING—Fig. 4 or 5.

To avoid unnecessary discharge of the battery. protective devices described below have been
itcorporated in the A.C. Start-O-Matic system which ensure that should the plant fail to start, then
bittery +’ve is completely isolated from the switchgear and detection circuit. The heater winding
J of the circuit breaker delay relay is connected in parallel with Starting Contactor Coil SC and as
loig as SC is energized the heater winding J will continue to warm up. If the plant fails to start,
the engine speed detection switch ES/1 does not close, and therefore the charge contactor coil N
is not energized. Tts contact N/3 therefore continues to feed the starting contactor coil SC and
the heater strip winding J until. after approximately 45 seconds, the heater strip warps sufficiently
to complete its contact J/1 which energizes the trip c_oﬂ K of' the circuit breaker. The circuit
breacer on operating trips the toggle mechanism which holds its contact K/t and K/2 in the closed
position and the contacts open. With the opening of Contact K/1 the load contactor Coil P
beccmes de-energized and its contact P/2 opens: thus interrupting the feed to the starting contactor
Coil SC and the Fuel Control Solenoid FCS.

Contact K/2 opens and interrupts the detection circuit through Load Relay Coil TDC, thus
isolating the battery from the load circuit.

PLANT FAILURE WHILST RUNNING.

If the plant fails whilst running, through lack of fuel for example. the speed of the engine will
decrease and the speed detection switch contact ES/1 will open thus breaking the feed to the charge
contactor coil N. The contact N/3 will then close and the plant will begin to motor. The
circuit-breaker delay relay will then operate in exactly the same way as described under “ Plant
Failure at Starting.”

7



Installation, Operation And Maintenance

Owing to the varying duties of this type of plant it is difficult to lay down an exact Maintenance
Schedule, but the following points will serve as a good indication of what is necessary to keep the
plant in first rate running order. Particularly we would stress regular attention to the Starter
buttery as the load detection circuit. operation of coils and starting of the plant are absolutely
dependent upon it.

INSTALLATION

Instal plant in a dry and well ventilated room. Typical layout drawings will be furnished on
request, the size of rooms shown being the smallest recommended.

FOUNDATION.

Mount generating set on a concrete block 2° 3” deep. including 3” above-floor level, and 3”
wider and longer than the baseplate. When pouring concrete leave four holes .4” square x 157
deep for holding down bolts.

When the concrete block is hard the set should be levelled up and a grouting mixture of
cement and sand worked in under the bearing surfaces of the baseplate. The bolts should be
grouted in but not tightened down until the grouting has also set hard.

EXHAUST AND FUEL PIPING.

The exhaust piping should slope downwards from the engine. preferably into an expansion
chamber. The exhaust system must be arranged so that it can be easily dismantled using flanged
joints where necessary. If anti-vibration mountings are used a length of flexible exhaust piping
and fuel piping must be inserted in the respective systems as near as possible to the engine.

SERVICE FUEL TANK.

Mount the service tank so that its outlet connection is at least 18” above the fuel pump outlet.
It will often be found more convenient to instal a bulk fuel storage tank with a pipe-line and semi-
rotary pump for replenishing the service tank.

LIGHTING.

If possible the plant room should have windows in at least two sides. A pendant with &
watt lamp should be arrunged over the Generating Set. A point should also be connected to tte
24 volt Starter battery so as to allow the use of a 24 volt portable lamp when the plant is stationaw.

BATTERY.
This must be readily accessible as regular attention to the starter battery is very important.

SWITCH CUBICLE.

This is supplied with a stand which should be bolted down preferably on to a concrete flinth
from 37 to 6” above floor level and it should be free from abnormal vibration. The switch
cubicle is provided with an earthing terminal.

WIRING AND CONNECTING UP.

We strongly advise that the house wiring and connecting up of the plant is performed by a
competent electrical engineer.

Three pin sockets should be used throughout and all fittings correctly bonded to earth. One
side of the A.C. line is connected to an earthing stud from which connection must be made to a
good earth. This is the only point at which the A.C. line should be earthed. Nor-earthed
conductor is colour coded red.

All connections are made at the Works between the control cubicle and the generating set. The
only connections required to be made on site are those to the house distribution switch fuse, the
earth connections and the batterv connections. The battery connections should not be made until
everything is ready for operation. 5

(\

~ -



RS AR e e

OPERATION

{a) Do not run the plant for long periods on a very light loud. Try to arrange for at least
one third of the output of the plant to be used. Running on less than one third of full load is fulse
economy.

(b) Switch a light on to keep the plant running continuously when using any appliance like a
vacuum cleaner or thermostatically controlled iron that is constantly being switched on and off.

With frequently repeated starts the battery cannot be kept charged unless the plant is run for
a sufficient number of hours each day.

This particularly applies to equipment like electric refrigerators or pressure operated electric
pumping sets.

The starter battery takes about 15 minutes to re-churge after each start with a charging
current of 4 amperes.

(¢} If it is required to use fluorescent lighting it is advisable Lo start the plant from another
point before switching on the fluorescent lamp otherwise the life of the tube muy be shortened.

RADIO & TELEVISION RECEIVERS.

Television Receivers have been operated satisfuctorily from the plant but we suggest that care
should be exercised in the purchase of a receiver, and that it should be tried out on the user’s
premises before the purchase is completed. A radio interference suppressor is fitted to the
alternator for Radio or Television Receivers.

MOTORS.

A.C. Motors up to and including 1 h.p. may be operated from the plant. It is important that in
all cases the power factor of the motor circuit should be corrected to unity by fiting a suitable
condenser, otherwise the voltage regulation will be affected.

Motors up 1o } h.p. are suitable for automatic operation. Motors rated at over } h.p. and up
to | h.p. are only suttabte for hand control and the plant must be started before the motor is switched
on.

The following types of motor may be used satisfactorily:—

(1) Capacitor Start-Induction Run with separate power fuctor correction condenser.

(2) Capacitor Start-Capacitor Run  (which includes power factor correction condenser
incorporated with motor). '

(3) Repulsion Start-Induction Run with separate power factor correction condenser.

The following sizes of condensers will usually be found to be suituble with motors 1 and 3: -

L hp. -— 20 Micro-farads.
1 hp. — 40 Micro-farads.
l h.p. — 60 Micro-farads.

‘The power factor correction condenser must be switched on and off with the motor.  Over
correction muast be avoided as this will lead to a high alternator voltage.

ESSENTIAL SERVICES.

Discretion must be exercised regarding the number of appliances, heaters and motors which
can be operated at one time. If the plant is overloaded it will automatically slow up and
there will be an excessive voltage drop which may cause the failure of some of the equipment.
When there are some essential services which must not be interrupted, such as a milking machine,
special arrangements should be made to prevent this occurring. One method of arranging this
would be to have the lighting circuit permanently connected to the plant; the power circuit to be
divided into two sections, one of which would supply essential equipment, and the other equipment
which is not so important. The two sections of the power circuit would then be connected to the
plant through a change-over switch, permitting the use of essential or non-essential equipment as
desired. ,

Apparatus which cannot be switched off in the normal manner should not be connected to the
load circuit, otherwise the detection circuit will be affected. e.g. if a kilo-watt hour meter or
electrical running hour recorder is installed, the voltage coil must be connected to the plant side of
the load contactor main contact.

9



Al -0

MAINTENANCE

For general engine maintenance see Engine Instruction Book No. 103.
Regularly replenish engine oil sump, fuel tank and water system.
Maintain oil level about 1”7 below top of filler.

BATTERY.

Care of the battery cannot be overstressed. Keep exterior of the battery clean and dry, and
filling plugs and connections tight. Keep terminals and connections free from corrosion and
coated with pure ¢ Vaseline * or Petroleum Jelly.

Regularly inspect level of acid in each cell and add distilled water (not acid), so as to cover
plates by 1”. If large quantities of distilled water have to be added this is usually a sign of
overcharging and the charge rate should be reduced.

A change-over link L2 is provided in the Battery Charging circuit. This gives a choice
between ¢ High Charge ’ and ‘ Low Charge ’ and its position will depend upon operating conditions.

The specific gravity of the acid in the cells is the best indication of the state of charge or
discharge of the cells.

The following table gives typical specific gravity readings. The actual values should be
obtained from the makers of the batteries.

Condition In climates with max. air temp. In climates with max. air temp.
of Cells ordinarily below 90°F. (32°C.) ordinarily above 90°F. (32'C.)
Actual Hydrometer Readings at Actual Hydrometer Readings at
Temperature of:— Temperature of:—

50°F. 70°F. 90°F. 70°F. 90°F. 110°F.
10°C. 21°C. 32°C. 21°C. 32°C. 43°C.

Fully

Charged 1.288 1.280 1.272 1.210 1.202 1.195

Half

Discharged 1.208 1.200 1.193 1.160 1.153 1.147

Fully ‘

Discharged 1.116 1.110 1.104 1.100 1.093 1.087

The specific gravity of the acid in the cells when fully charged should be within .005 (5
points) above, or .010 (10.points) below the value given in the table. If an alkline battery is used,
similar values should be given in the maker’s instructions.

MONTHLY OR EVERY 150 HOURS.

(1) Examine tension of Vee-Rope Drive. Adjust if any slip can be detected whilst starting.

(2) Lubricate all Governor Gear and Fuel Control Mechanism and see that everything is quite
free in operation. '

QUARTERLY OR EVERY 450 HOURS.

(1) Examine all switchgear contacts and clean with very fine emery cloth if necessary. Take great
care not to bend contact strips and take the precaution of disconnecting the battery.

(2) Wipe the top of the battery with clean rag and recoat terminals with * Vaseline.

HALF-YEARLY.

(1) Clean out Exhaust System.

(2) Clean out Fuel Oil Tank.

(3) Examine Brush Gear, Commutator and Slip Rings. The alternator bearings need greasing
only about once a year.

IMPORTANT.

Before attempting any engine or electrical adjustments always trip circuit-breaker switch ‘K’
or better still disconnect the battery.
10

C

N



Hints On Fault Finding

(1) PLANT FAILS TO START WHEN LAMP OR APPLIANCE IS SWITCHED ON.

e

(K]

(]

(5

(a) Check on lamp or appliance by switching on another appliance.
(b) Check fuses in distribution box.

(¢) See if circuit breaker has tripped. Check Contacts K/1 and K/2.
(d) Check fuse in starter circuit.

(e) Check state of Battery Charge.

() Look for loose. broken or dirty connections in battery leads or load circuit.
(g) Check load relay coil TDC and contacts T/1.

{h) Check Load Contactor Coil P and Contact P/1.

(i) Check adjustment of Engine Switch Contact ES/I.

(i} Check contact N/3.

(k) Check starting contactor Coil SC and Contact SC/1.

Contacts that appear dirty or burnt should be carefully cleaned off.

If everything is satisfactory up to this point, and

PLANT FAILS TO ROTATE OR STALLS AGAINST COMPRESSION.
{a) Check engine by turning over with starting handle.

{b) Check brushgear. Commutator may need polishing with fine glass paper. Brushes must
be absolutely free in holders and brush springs must be adequately tensioned.

(c) Check cable connections to and in alternator cubicle.

(d) Check adiustment of valve lifter mechanism. 1If tappet is down on wedge the fuel control
solenoid lever should operate without withdrawing wedge, which will follow up under
the action of the tension springs as the tappet lifts.

See that exhaust valve wedge is returning under tappet. When Sets have been in
operation a number of years the end of the wedge may be found to be rounded. This
can be overcome by removing it and replacing it the other way up.

ENGINE WILL NOT FIRE ALTHOUGH BEING MOTORED.
(a) Fuel tank empty.

- (b)Y Air lock in fuel system.

(¢) Fuel control solenoid not operating. Check mechanism for mechanical stiffness. Check
Contact N/1. Tf this is not making good contact resistance ER will be inserted for
starting.

(d) Check injector and fuel pump.

(e) With valve wedge out check engine compression.

LAMPS DULL.

(a) See that engine is firing and not being motored (see 3). The circuit breaker would normally
trip the circuit in 45 secs. in any case.

(b) Engine speed too low. ‘

(c) Check with one lamp only. If satisfactory the main field rheostat and field windings are
correct, but auxiliary field circuit requires attention. Check for loose or broken

connection.

(&) Faulty Rectifier MR or MR1.

(e) If lamps glow during starting and then go out even though plant continues to run, check
connections main field MF, and main ficld rheostat FRI1.

VOLTAGE HIGH.
(a) Engine speed too high. Inspect governor and fuel pump for sticking.
(b) Main Field Rheostat FR1 or FR3 requires adjusting.

11



—— mEaii

(6) ENGINE FIRES AND RUNS FOR APPROX. 45 SECS. OR LESS AND THEN SHUTS
DOWN ALTHOUGH LOAD IS SWITCHED ON.

(a)
(b)

(c)
(d)
(e)

("

Circuit breaker delay relay out of adjustment. .

Engine speed detection switch faulty or mal-adjusted. (If faulty a new replacement is
necessary). :

Contact N/3 out of adjustment and failing to break.

Economy resistance ER or connections to it faulty.

Fault on house wiring sufficient to operate load relay detection coil TDC, but not enough
to hold in on main coil TAC.

The last two faults would give rise to a repeated cycle of starting and stopping until the
circuit breaker trips. :

(7) ENGINE WILL NOT STOP WHEN ALL LOAD IS SWITCHED OFF.

(a)

(b)
(©)
(d
(e)

Fault on house wiring or plant connections resulting in leakage current sufficient to
operate load relay.

Fuel control solenoid mechanism or fuel pump rack jammed.
Excessive wear on tip of valve wedge or return spring weak.
Load relay out of adjustment or sticking.

Load contactor contacts P/2 out of adjustment.

(8) PLANT FAILS BUT CIRCUIT BREAKER WILL NOT TRIP.

(a)

Battery flat.

(b) Contact I/1 dirty or out of adjustment.

(¢

Circuit breaker coil K or Coil connections faulty.

(9) BATTERY AMMETER WILL NOT SHOW CHARGE.

(a)

Battery already fully charged.

(b) Charging resistance CR out of adjustment.

(e)

Engine speed too low (this will normally show on the lights as well).

(d) Faulty ammeter. Check if it reads discharge during starting.

HAND STARTING OF ENGINE.

In the event of trouble developing on the switchgear or control solenoids, the engine can
readily be started by hand and the plant run direct on to the load circvit by following the
instructions below:—

(M
(2)
(3

3]

Trip circuit breaker K to the ‘ off > position.
Change over link L, from the right hand to the left hand top stud.

Screw in change-over valve handwheel and use starting handle as described in the engine
Instruction book.

Operate fuel control solenoid bell crank lever by hand and insert the collar provided
between it and the top of the coil case.

Important

SPARE PARTS—DIRECTIONS FOR ORDERING

Always quote the Plant No., Part No. and Description of the Part when ordering
Spare Parts. The Plant No. will be found on the Brass Plate attached to the
Baseplate.

12



Item

= A P

L =R- NS JLV I YU P

PARTS LIST

LOAD RELAY “T.» Fig. 9,

Description
Relay compielc
~aguet trame
Armature .
Ammature carrier D.C.
. ' AC
Coit D.C. 23 voit

» AC. 220 volt

» AL, 110 volt
Coniact pos; ..
Spindle tor ltems 3 & 4
Spring for liem 3
Locknut for spring anchor
Spacing collar for Items 2, 3, 4
Conact screw with contact tor Iiem 7
Studs for ltem 6 2BA x 2-1,/4~ Long

” » £ 4BA x 2-1,4” Long .. ..
Connection, stud for Item 4 4BA x [-],2" wony
Stud for ltem 7 4BA x 1-3,8" long . ..
Screw for Item 1 4BA x 3/4~ long CH. HD. ..

' » 9 & 10 6BA x 3,47 fong Hex. 1D

' > J6BA x 5/8” long. Hex. HD. .,
Simmonds nuis for ltem 14 2BA. ..

» ' ' 15 & 16 4BA.

Nuts for Item 14 2BA. .. .. .

”» » 15, 16, 17, 18 4BA.

BA. .. .

Locknut for Item 13 4BA.
Plain washers for Item 14 2BA, .. ..
. - ltems 15, 16, 17, 18 4BA.
» " Item 8 5BA. ..
Spring washer . 14 2BA .. ..
” " » 15, 16, 17 & 18 4BA
Split Pin for Item 8 3/64” x 3/8“ long ..

No. per
Set

—_—

4—:'Nu—ux——uu-—;—u-—-.—_;__._._._._.._.,.J

(]

— o
R A N,

CIRCUIT BREAKER “K.” Fig. 10.

Description
Circuit breaker compleie .. .. .
Toggle bracket & Pole Piece Assembly
Magnet Frame .. . .. ..
Plunger . .. Ve
Operating screw
Indicator plate
Toggle assembly .
Split pin 3/32” Dia. x 1-1,8"
Spacing collar . ..
Contact panel
Break contact
Make contact .
Contact finger bush
» ” »  pin
Moving contact finger
Contact block ..
Coil ‘e .. o .. .. .
Screws for Item 10 & 15 4BA x 13/16” CH. HD,
Screw for Item | 6BA. x 1/8” CH. HD. ..
Fixing screws for ltem 2 4BA. x 1/4” CH. HD.
Studs for Item 14 & 15 5BA x 1-1/8" long
Nuts ,, ,, 17, 19. 20 4BA. ..
Locknuts |, 4 4BA .. ..
Plain washers for Item 17, 20 4BA. ..
Spring washers ,, 5 17, 19, 20 4BA

,, ” » o 18 6BA. .
Resetting knob .. . . ..
Taper pin .. .. Ve . .. ..
Washer for Item 26 1/4” Dia. .. ..

” w26 1/4” Dia. .. -

13

No. per
Set

R e Gt — v e — e e e

(&4

[N XS
—— e e R RO 10 RS B

Part No.
64-7157
64-7138
64-7139
04-7140
64-714]
64-7142
64-7143
64-7168
64-7144
04-7145
64-7146
64-7147
64-7148
64-7149
64-7150
64-6723, 24
64-6723,22
64-6723/3
64-6723/25
64-6617.728
64-7039/13
64-7039/12
64-6649 3
64-6649/2
64-6614,3
64-6614,2
64-6614/ |
64/6613/1
64-6618/4
64-6618/3
64-6618/14
64-2582/2
64-2582/1
64-6722/44

Part No.
64-7119
64-6677
64-6673
64-667Y
64-6650
64-7114
64-711:
64,6722, 13
64-6683
64-6684
64-6683
64-6686
64-6687
64-6681
64-6688
64-6689
64-6692
64-6617/23
64-6617/2
64-6617/3
64-6723/2
64-6614/2
64-6613/1
64-6618/2
64-2582/1
64-2582/7 .
64-7116
64-7117
64-7118
64-6618/6
64-6618/15



——— el

ftem

Pem

- KPS G PR S

NN RN

CIRCUIT BREAKER THERMAL DELAY “J.”
No. per

Description Set
Thermal Delay Switch complete 1
Heater strip .. ]
Compensating strip I
Strip fixing pillar 2
Adjusting screw pillar .. .. .. .. .. 1
Fixing Screw for Item 1 & 2 4BA x 3/16” CH. HD. 2
Adj. Screw » 4 4BA. x 15/16” Hex. HD. |
Fixing Stud also for Item 3 4BA. x 1-1/2” long 4

» , for ltem 4 4BA x 1-1/4” long I
Nut for Item 6 4BA. Special . .. . 1
Nuts for Items 7 & 8 4BA. Special 1t
Simmonds Nuts for Item 7 4BA. 2
Plain Washer » 7 8 4BA. n
Spring Washers for ltems 5, 7, & 8 4BA. 9

CHARGE CONTACTOR “N~”
LINE CONTACTOR “P.”

Fig. 12.

No, per
Description Set
Charge Contactor complete |
Line Contactor complete 1
Magnet Frame i
Pole Piece |
Armalure . i
Armature Stop Plate 1
Main Contact Pillar 1
Main Fixed Contact 1
Moving Main Contact .. .. .. .. . 1
Coil . .. Ve .. . .. 1
Double Aux. Contact Arm N .. .. |
Single Aux. Contact Arm “P " |
Aux. Contact Spacer *2
Moving Aux. Contac( *2
Fixed Aux. Contact *4
Spring Spindle 1
Contact Spring 1
Armatore Spring 1
Stud for Item 2 5/16” Whn X 1- 5/8" long 1
o ,, 8 2BA. x 2-1/4” long 2
. ., 5 2BA. x 1-3/4” long 1
,» 12 4 BA. x 1-1/4” long .. *4
Scre“s for ltems 10, 11 4 BA. x 1/2” long CH. HD. .. *2
., 3,4 4BA. x 3/8” long CH. HD. 2
Nut for Item 16 5/16” Whit. I
Locknut ,, 6 1/4” BSF .. .. .. . 1
Nuts for ltems 17 & 18 2BA. .. .. .. .. - 12
» 19 & 20 4BA. .. .. .. .. o *10
Plam Washer for ltem 16 5/16” Dia. o .. .. i
” » " 17 & 18 2BA. e .. .. 14
" . ' 19 & 20 4BA. .. .. .. ¥4
" " ' 13 5BA. . .. .. .. 1
Spring Washer » 16 5/16” Dia. .. o . ]
" 1 . 17 & 18 2BA. .. . . 8
" ' . 19 & 2! 4BA. . P I
Split Pin ,, » 13 3/64” Dia x 3/8” long .. 1

* Quantities to be halved for Line Contactor,
t 7 required instead of 12 for Line Contactor,

14

Fig. 11.

Part No.
64-6668
64-4959
64-4960
64-6669
64-6671
64-6617/24
64-7039/11
64-6723/3
64-6723/22
64-6673
64-6614/2
64-6649/2
64-6618/2
64-2582/1

Part No.
64-7120
64-7169
64-7121
64-7122
64-7123
64-7124
64-7125
64-7126
64-7127
64-7128
64-7129
64-7130
64-7131
64-7132
64-7133
64-7134
64-7135
64-7136
64-7037 34
64-6723/23
64-6723/5
64-6723/22
64-6617/6
64-6772 13
64-6611/8
64-6613 77
64-6614 .3
64-6614/2
64-6612/8
64-6618/4
64-6618/3
64-6618/14
64-2582/4
64-2582/2
64-2582/1
64-6722/44

-

S



Item

N ™™
OOOO\IO’\LA&WN-‘O\DM\IO\MAWN'-‘

Ttem

— e et
NI N TRV - I B T IR s e

RO B = e —
I SO0

t

SRS NSNS NN
00 ~3 W b

W L N
— 3 O

WL W W W
R N R

MISCELLANEOUS PARTS.

Description
Ammeter . ..
High-Low Charge Label ..
. ' Link ..

Stud for Item 3 2BA. x 2-1/4” long

' » 3 Special ..
Simmonds Nut for Ttem 4 & 5 2BA.
Nuts for Item 4 & 5 2BA
Washers ,, 4 & 5 2BA. .
Spring Washer for Item 4 & 5 2BA.
Direct running Link ..
Identification Washer per Set ..
Terminal Stud 2BA x 2-1/4” long
Simmonds Nut for Ttem 12 2BA
Nauts for Ttem 12 2BA.
Washers ,, 12 2BA. ..
Spring Washers for Ttem 12 2BA. Ve
Screws for Item 1 6BA. x 3/8” CSK. HD.
Nuts - » 1 6BA .. ..
Washers ,, , 1 6BA. ..
Spring Washer for Item 1 6BA.

-Fig. 13.

No. per
Set Part No
I 64-7736
i 64-7153
1 64-7154
2 64-6723/24
1 64-7155
2 64-6649/3
6 64-6614/3
0 64-6618/4
3 64-2582/2
1 64-7156
10 64-7157
13 64-6723/24
13 64.6649/3
39 64-6614/3
87 64-6618/4
26 64-2582/2
4 64-6616/3
4 64-6614/1
4 64-6618/1
4 64-2582/17

ALTERNATOR CONTROL BOX. Fig. 14.
7R4QR & K Series Alternators.

Description
Current Transformer
Rectifier complete .. ..
Shunt Regulator Block complete
Starting Contactor complete
Auxiliary Field Resistance

Fuse Pillar
Conduit Adaptor 1-1/4” — 17 Flexible
" ' 3/4" — 5/87 "
Conduit Insulator 1-1/2” Conduit
. 1-1/4" "
” ' 3/4" . .
Tdentification Washer Earth .. ..

Battery Negative
Battery Pasitive

Insulator Bush
Connecting Link
Insulation Plate
Terminal Block
Label .. ..
Flexible Mounting
Fuse Blow-out Tube
Cable Sleeves, per set .
Fuse Pillar Packing Piece .. .. ..
Bolt for Ttem 6 3/8% Whit. x 1-1/8” Hex. HD.
Bolts ,, 6 & 7 1/4” Whit. x 3/4” Hex. HD.
Screw  ,, { & 2 ?BA. x 1/27 CH. HD.
4 7BA x 1 CH. HD.
4 2BA x 1-1/2” CH. HD.
5 4BA x 7/16” CSK.

" " 18 4BA x 5/8” CH. HD.
Parker Kalon Screw for Item 19 ..
Terminal Stud 3/87 Whit. X 2-1/2” long
Simmonds Nuts for Items 20, 26, 27, 28 2BA

" . ” 29 & 30 4BA
Terminal Nut for Item 32 3/8“ Whit.
Locknut for Ttem 8 1-1/4” Conduit
., 1111727 Conduit

i ”
” ”

“

L1}

15

No. per
Set Part No.
| ( State Plant
! and
| l Alternator Nos.
1 64-7171
1 64-6957
! 64-7096
I 64-6938
1 64-4226/14
| 64-4226/9
1 64-4230/6
] 64-4989/5
1 64-4989/3
1 64-7005
1 64-6936/1
1 64-6936/2
| 6£4-6943
I 64-6940
1 64-6937
1 64-7041/6
l 64-6988
4 64-7029
1 64-67177
9 64-7110
| 64-6933
1 64-7039/10
1 64-7039/8
4 64-6772/3
1 64-6772/5
| 64-6772/7
4 64-6616/8
2 64-6772/12
6 64-7175/1
3 64-6723/17
18 64-6649/3
6 64-6649/2
0 64-6613/9
| -64-4229/5
| 64-4229/6

1




TS AR

Item
38
39
40
41
42
42
41

46

Hem

SO 0N A AR —

—_

[

——
o}

ALTERNATOR CONTROL BOX.

Description
Locknut fo. Item 9 ..
Washer ,, ,, 24, 43 3’8’ dia.

" " » 25 1/4" dia.

» ” . 26, 27, 28 2BA.
» 29 & 30 4BA. .. ..
Sprmg W.lshers for Ttems 24 & 32 3/8” Jia.
" .25 14" dia

Insulntion Pl:;!c

Fig. 14. (Contd.)

No. per
Set Part No.
i 64-4229/3
11 64-6618/9
4 64-6618/6
14 64-6612/4
4 64-6612/3
6 64-2582/5
64-2582 3
64-7377
64-7378

12

ALTERNATOR CONTROL BOX. Fig. 15,
6R4QR Series Alternators.

Description
Compound Trimming Resistance
Rectifier complete
Shunt Regulator Block complelc
Starting Contactor complete ..
Fixing Bolts for Ttem 1-—13/16” x 1’4" Whn(
Fuse Pillar .. .. .. . ..

Conduit Adaptor 1-1/4"—1" Flexible

" ” 3/4%—5/8"

. Tnsulator 1-1/2” Conduit

» » 1-1/4

" 34",

ldentlflcatlon Washer Farth .. .. ..

. ' i, Battery Negative
s o Battery Positive
Insulator Bush
Connecting Link
Insulation Plate
Terminal Block
Label
Flexible Mountmg
Fuse Blow-out Tube
Cable Sleeves per Set
Fuse Pillar Packing Piece
Bolt for Item 6 3/8” Whit. x 1- 1/8" ch Hd

s 6 & 7 1/4” Whit. x 3/4” Hex. Hd.

Screw for Item ! & 2 2BA x 1/2” Ch. Hd. ..

" . 4 2BA x 1”7 Ch. Hd.

. . 4 2BA x t-1/2” Ch. Hd.
Simmonds Nuts for Ttem 26 1/4” Whit.
Screws for Item 18 4BA x 5/8” Ch. Hd.
Parker Kalon Screw for Ttem 19 .
Terminal Stud 3/8” Whit x 2-1/2~ long .
Simmonds Nuts for Ttems 20. 26, 27, 28 "BA

' 30 4BA.
Termmal Nut fon Item 32 3/8” Whit.
Locknut for Ttem 8 1-1/4” Conduit

» » 11 1172~ '
» » 9
Washer for Item 24, 43 3/8” dia.
’ ' 25 1/4” dia.
» " 27, 28 2BA.
s 30 4BA.
Gpnng Washers for Ttems 24 & 32 3/8~ d:a
25 1/4” dia.

Washers for Ttem 26 1747 dia MS. CP,

16

No. per

Set Part No. O
[ State Plant !

! and
| Alternator Nos,

64-7171
64-6771/27
64-7096
64-6938
64-4226/14

" 64-4226/9
64-4230/6
64-4989/5
64-4989/3
64-7005
64-6936/1
64-6936 /2
64-6943
64-6940
64-6937
64-7041/6
64-6988
64-7029
64-6771
64-7110
64-6915
64-7039/10
64-7039/8 g
64-6772/3 ( ‘
64-6772/5
64-6772.7
64-6649.6
64-6772/12
64-7175/1
64-6723/17
64-6649,3
64-6649/2
64-6613/9
64-4229/5
64-4229/¢
64-4229/3
64-6618/9
64-6618/6
64-6612/4
64-6612/2
64-2582/5
64-2582/3
64-6612/6

Ja 1D Dt B f o me e DD 0 U TN I 1D o fo e oma e ) e i e = et % s rme et mad e v i et et vk | ) e et o —

{



AN EERL o I

lem

e W21 —

FUEL CUT-OFF & EXHAUST VALVE LIFTER
MECHANISM. Fig. 16.

No. per
Description Set Part No.
Bracket . 1 64-6578
Bracket lemg Screws 3/8” Whnl x 17 Ion" 2 S203
Spring Washers 2 64-2582/5
24 Volt Fuel Cut-Oﬁ Solenold complctc
For use with 12 ohm Economy Resxbl.mu. | 64-6733
24 Voit Coil . I 64-6734
Fuel Cut-Off ang Screws 3/ 16’ Whit. | 8-1/HS53
Terminal Block . . . 1 8-1/H119
. Screw 1 /4” Whu 1 64-1552
Nuts 1/4" Whit, 4 64-2577/6
Washer 1/4” .. 4 64-2580,6
Cover Fixing Stud ’BA X 2" long 2 64-4357/3
Nut 2BA. .. . . .. 4 64-2577°3
Washer 2 BA. .. 4 64-2580/4
Terminal Box Body }Supplicd in
- ,» Cover Pairs { 64-4663
Conduit Adaptor o .. 2 64-2487/1
Flexible Conduit 5/8” Boxe x 9 lonz, i 64-4839/2
s 5/8” Bore x 11”7 long . I 64-4839,10
Set-Screm 2BA. x /4" lonz, 4 64-2575/4
Bell Crank Lever .. 1 5-1/H126
Adj. Screw 1/4” BSF 1 5-1/H139
Lockaut 1/4” BSF | 64/2578/6
Fulcrum Pin 3 8-1/HSS
Split Pin 1/2” x 5/64 2 Si22
Fuel Cut-Off Spring I 5-1/H133
Exhaust Lifter Spring 2 J127
Pye Switch I 64-6584
Fixing Screws 4BA X 13/8' JonL, 2 64-6772/16
Nuts 4BA. .. 2 64-6610,2
Washer 4BA. .. 2 62-6612/2
Spring Washer 4BA. 2 64-2582/1
Striker Pin Bracket ! 64-7636
Locknut 1/4”  Whit. 1 64-6610/5
Adjusting Screw 1 64-6580
Locknut 2BA. i 64-6611/3
Bell Crank Lever .. | 64-6581
Fork : 1 12380
Adjusting Spmdle | 64-3931
Nut 1/4 Whit. 1 S8
Spring Link Adjuster | 64-3930
Spring Link I 64-3929
Spring | Ji27
Screw 2BA, x 1” Ion | 64-3408. 5
Nut 2BA. 2 64-2579/3
Spring Washer ZBA | 64-2582/2
Fulcrum Pin | 3376
Split Pin 1/2” x 5/64” 2 S122
Exhaust Valve Lifter 1 5-1/H124
Coupling Rod . | 5-1/H125
Valve Lifter Bracket i 5-1/H123
Set Screw 1/2” Whit. x 2 5/16 long, 1 2772118
» 5/16 Whit. x 1”7 long 1 S189
Spring Washer 5/16° .. 1 64-2382/4
Valve Lifter Lever 1 5-1/H127
Fulcrum Pin for Lever .. 1 5-1/H128
Taper Pin w .. . 2 S132
Shut Off Lever .. . 1 5-1/H129
Shut Off Pin 1 D60
Nut 3/8” BSF . 1 S714
Bolt 1/4” Whit, x 1 /2” long .. . 1 64-6771/24
Spring Washer 1/4” dia. .. .. .. o 1 64-2582/3
17




A ARsIY e - - o

SWITCHGEAR CUBICLE.

Description
Switchgear Case (Less Lovex}
Panel .
Fixing Boits for llcm 2
Nuts for Item 2
Washers .
Spring Washers for It(.m 2
Front Cover complete
Back Cover complete
Perforated Cover
Fixing Screws for Item 9 2BA X l/” CH HD
Washcrs for Item 9 2BA ..
Spring Washer for Item 9 2BA.
Battery Charge Resistance CR. . ..
Fuel Cut-Off Economy Resistance ER.
' Discharge Resistance DRI,
hxmg Studs for Items 13, 14 & 15 5/16” x S- 5/8’ lom,
Nuots for Items 13, 14, 15 5/16' Whit. ..
Washers for ltems 13, 15 5/16” dia. .
Spring Washers for ]tems 13, 14, 15 5/16” dia.
Connections for Resistance Units (Completc Set)
Conduit Adaptor for 3/4” Flexible ..
Locknut for Item 21 3/4” Conduit
Bush for Item 21 ..
Conduit Adaptor for 1” F]ClelC
Locknut for Item 24 1-1/4” Conduit
Bush for Item 24
Earth Socket
Screw for Item 27 ZBA X 3/4 dm CH Hd
Nut  ,, ,, 28 2BA
Locknut for Item 28 2BA.
Washer ' 28 ZBA
Spring Washer for Jtem 28 2BA.

BASEPLATE.
Baseplate complete
Set Pins for Engine
Spring Washers ,,
Square Headed bolts for Allernator
Spring Washers »
Nuts »
Foundation bolts
Spring washer ,,
Plain washers ,,

]

i1}

Nuts »
BELT DRIVE.
Alternator pulley (50 cycles) .. ..
' » (60 cycles) ..
" o key e ‘e e
. Set Pin .
H)wheel pulley
Y . bolt
- ,, washer
V Belt ..

No. per

Set Part No.
64-7158
64-7159
64-7039/14
64-6614/18
64-6618/6
64-2582/3
64-7160
64-7161
64-7162
64-6617/2
64-6618/4
64-2582/2
64-6053
64-5969
64-6711
64-7037/35
64-6614/11
64-6618/8
64-2582/4
64-7165
64-4226/9
64/4229/3
64-7164/2
64-4226/14
64-4229/5
64-7164/5
64-5368/2
64-6617/13
€4-6614/3
64-6613/2
64-6618/4
64-2582/2

1D fa et mmt b b b am s — e OO — e B R R e —— B R R R ——

§-8-523
27-2118
27-394
576
27-394
27-4
5586
27-396
27-538
S2

AABARDSAD—

B fd L) et et
w
0
wy
W

COMPRESSION RATIO CHANGE OVER VALVE,

C.0.V. Auxiliary Plug

FLYWHEEL.
Flywheel (grooved) .. .. .. . .
. key . .. N . .
. key guard .e .. .,
18

1 10-3-259

t 8-8-160
5162

1 5-1/E10

21



L LR R

*
FUEL TANK.
. No. per
Description Set Part No.
Fuel tank complcte, comprising .. .. . .. . 1 10-7-61C
" ,» Drain Plug .. . l 11-13-693
, s o  joint 1 5197
“ . lid 1 10-7-72
., wheel valve 1 8-1/G50
N - , joint | 12406
EXHAUST PIPES & SILENCER.
27 Pipe x 90° Bend 1 5262
27 ., x 6 long | 27/2312
LA ¢ 135" Bend 1 S446
27, x 157 long 1 2773558
2”7 .. X 90" Bend 1 S262
27, x 157 long 1 27/355%
27, X 36" long | §265
Flange .. 4 R9%6
Joints .. 2 R89
Boll‘s with Nuts ancl ‘Washers 4 27/2363
2” Pipe x 18" long .. 1 27/3515
27, x 427 long 2 S488
27, x 90° Bend | S262
2" Sheet Metal Silencer I R176
2” Socket bt S230
SLIDE RAILS.
Slide rails 2 10-8-301
. set pins .. 4 S496
.. spring washers 4 27/394
COOLING SYSTEM.
Cooling Tank 70 gallons .. .. .. L. .. .. | 408
WATER CONNECTIONS.
Inlet—Tank to Engine.
1" Hex. Nipple I S171
1” 3 way Ceck o | S170
1” Pipe 8” long (for dram) I 27/3848
I Pipe 8" long .. 1 27/3848
I Socket . 2 Si72
” Pipe 14”7 long SOE . I 27/2345
l 1/4" Bore Hose 127 long 1 S175
" 90° Bend 1 S382
I" Pipe 15” long 1 S147
Clips for Hose 2 404
Outlet—Engine to Tank.
1” Pipe 15”7 long . 1 5147
I “ Socket .. .. 4 St72
" Bend 90° . 1 S382
l 1/4” Bore hose l’” ]ong 2 S175
Clips ., . 4 3404
1” Pipe 8" long 1 27/3848
1” Bend 120° 1 S174
1” Pipe 4" long . 1 S406
le for Cooling Tnnk 1 3409
Pipe 30 long I S783

19




M R L

LOAD

Fig. 1. Load Switched on to Stationary Plant.

20 U




P/l

Tac

LOAD

Toc
Li

Fig. 2. Load Detection Relay Closes.
21

K/2



L LOAD

|
|
i

Fig. 3. Engine Speed Detection Contact Closes.
22



L L

MR FR2

T

YELLOW r
W X

t Tac Toc
| 5

RED # LOAD GREE&

Li

Fig. 4. Complete Schematic Connection Diagram.
J (TR4QR & K Series Alternators).

23




YELLOW @

RED T

P/
Tac

LOAD

Toc
S
GREEN

Fig. 5. Complete Schematic Connection Diagram (65S4QR Series).

LI

24




Low High
L2
)
N2 PR/ J
N1 AR ER
LE_OVVWW

5

DRI
B.O.B. View TJ J 'sn
of Cubicle ‘ 3 d ?__
_’ To Load
|
Via Engine Room
Main Switch and
House Distribution
Box.
-
FCS
£S/
FR2
AA
Alternator Control Box
;U
A Battery Charge Ammeter ER Economy Resistance MR Voltage Regulation Rectifier
AA  Alternator A.C. Windings FCS Fuel Control Solenoid N Charge Contactor
AD  Alternator D.C. Windings FRI Main Field Rheostat P Load Contactor
AF  Auxiliary Field Winding FR2 Auxiliary Field Resistance SB 24-Volt Starter Battery
BF  Battery Fuse J Circuit-Breaker Deley Relay SC Starting Contactor
° C Current Transformer K  Circuit-Breaker SSF Series Starting Field
CR  Battery Charging Resistance L1 Load Circuit Change-over Link T Load Relay
DR1 Discharge Resistance L2 Battery Charging Change-over Link U Radio Interference Suppression
ES  Enginc Speed Detection Switch MF Main Field Winding Condenser

Fig. 6. Back of Board Wiring Diagram of Mk. I Switch Gear Control Unit.
(TR4QR & K Series Alternators).

25




N (Rl - -

Toc

e

J ~—owvwww1
' DRI
B.0.B. Vicw
of Cubicle
To Load
1=t}
+ Via Engine Room
Main Switch and
- —— Housc Distribution
Box
cT
I
FCS
1 Est
° i
—
Alternator Control Box
TV
Battery Charge Ammetcr ER FEconomy Resistance N  Charge Contactor
Alternator A.C. Windings (S Fuel Control Solenoid P Load Contactor
Alternator D.C. Windings FR3 Main Field Rheostat SB 24-Volt Starter Battery
Auxiliary Field Windings J Circuit-Breaker Delay Retay SC Starting Contactor
Battery Fuse K Circuit-Breaker SSF Series Starting Field
Battery Charging Resistance L1 Load Circuit Change-over Link T Load Relay
Compound Trimming Resistance L2  Batlery Charging Change-over Link U  Radio Interference Suppression
Discharge Resistance MF Main Field Winding Condenser

Engine Speed Detection Switch

MR1 Voltage Regulation Rectifier

Fig. 7. Back of Board Wiring Diagram of Mk. III Switch Gear Control Unit

(6S4QR Alternators).

26



") [oxuo) jo uoyexnsnyy g -Sig

7 J01NpUC)
" \\ ;

1 fuany 1o frf@:ﬁ«\\.\\.ﬁw PN 0 P o pol
4 = I

(TP — / xog osng

10} yur] 19A038uey)
[23Mg ulely 01 103ulio)

. 2a1g oL
fianeg A 2qEIG AASD

T /i

oy ULy AL

O

©

\ adaey)
BEIEINTAY .
<1 AU

|—| Z * Suriiey) L1aneg .Q .H

27

(yieousapun) spoIQND)
103 reunuiay, Jurgurey




AR BER b

il 29 8 29

31 28 24 18

©Q @ ===

22 24 28 3 3L 28 24

® ®© O & 26 © © © O

Fig. 9. Load Relay “T.”

28

U



o [

. Circuit Breaker “ K,”

Fig. 11. Circuit Breaker Terminal Delay « ).

29



9

ammununmmy 25 28 32

Q @ I 12 19 © © Q

o @] D

Fig. 12. Charge Contactor “N,” Line Contactor “P.”

o ()

2
6 © P 20O
4 Sg 7 @ 3 l2u 4 @ 10 ‘
8 @ IS @
30) 6 ©
Fig. 13. Miscellaneous Parts.
30

U



Fig. 14. Alternator Control Box (TR4QR & K Series Alternators).

3



. rell |

1§

I

Zm
ay,

-A'Kn

.
—1
| ge—
—N
F—¥
—H
o i
’——:
H—H
—1
H——}

o 4“- ]

g

A
1

Fig. 15. Alternator Control Box (6S4QR Series Alternator).

32



i

l
5

N

..mll“‘m“m
l i

@1
90 40
®
™

AE

/I \\\\\\\\\\\W\\\\\\\\\\\\\\\\\\\\\‘

- & S
1Y) o A

— &

59
J D
Qs7 22

Fig. 16. Fuel Cut-off and Exhaust Valve Lifter Mechanism.
33




TIOLIL-PS 'ON U]

34

| |
_ S \itn_ BRUC J R [P SR e 0 | 10pPEBRIEOD
J :L:. 9 swyo 9 ’ i ’ T Y 1 Bo_a—:cu EUE:CU u:::..u. Suipe)s
fiU o EE S S G St A A
e e _, B il\.% i e B R - - e e e e YIRMS
ﬂ p8COy9 | I _ I w T ' S ;s_am _Bam suidug | paddg aujduy
wmzoo ‘ L1L9%9 v# E:O ov ~ (4 | [ , £ .,_ i S dcﬁv_vom odi_um_ﬂ yo- SU Pnd -
$S¥09 ocam vo _ﬁ SWYO o | z , rd ¢ ! l oo uéju_voz b:c:ch po-ny eng $35UR)SISIY
e S [ AN SR I T i
<mwdoo mmoo v9 ” mE;O € ' C t | 3 < ﬂ o#:;m_vom om:;_,u \Co:_:m
‘ , r __ . proud[og
|| PN ——— e T T T T T T T T - L Be-m) Py
Ym\.o.wo l swyo s°L [4 C ¢ 1 :c> vm __c,u Jo-nj a4
oomv V9 4 T T I E:m w::qmcuaEcU
—_ [N U NS B S - — N e jewdy §
owov V9 mE;O 6t 4 [4 £ [ g_:m 13189 RES 00 |
— e — e ————— T T T C e e e o1
P16€TSD mcco V9 — - C I Bu_mEcU \?_uD _c::o;h Bv_ﬁzm ::u:U HRRD
6£0€TAS wwoo 124 [4 C 3 T ._ow:_nm uomEoU FuIAO
0£0€TAS §899-¥9 [4 T £ C Sﬁccu yeoid -
769919 swyO 8¢ 1 I [4 I :o> vz 110D Aey nway
PI0ETON 611LV9 1 1 (4 I - Bu_QEoU Aepy
o lv..l..M_._ 9 | suea z1 sjueld 81 T apiqn) R o a ‘ wpuodwo)
"ON IUIIPY ‘oN Med uesIY | — — urtgo‘v muﬂﬁ_m ecnv: 12d "ON uondudsa(q pPaROqUIHMS

L

‘SJIOA 0€Z PUE OFT "M ST dPIND dMEBA-O-1EIS "DV 1l e pPue | MEBA
MOOLS ¥04d dTAH dd OL SLIVd AAVdIS AIANANNODTH




1/0LTL-$9 "ON ST

TS1Lb9 I I (/ 1 'sdwy 01-0-01 'O'W 12d {1 1oy PPN
1L¥923S LYTL-V9 [é (A [4 I ’ Sundg wmiey weuo)
€0T9TIAS IIL-+9 z 4 z 1 Sundg ermeuny
P1L-v9 [4 [4 € I ’ jorIu0) SUlAON
0S1L-+9 T 4 € 1 : T MAIOS 10BIUOD POXI
891L-9 z z g I . SHOA 011 100 soweg | AP PRI
EVILbO z z £ | SIOA 0§ 10D semeg
YiLb9 T T - € 1 SIOA +T 110D uonsareq
ISI9ZON |  LETLDO o z I : aridwo) Aejey peo]
8609Z31S SE1L-P9 ” < | 4 € [ : A guidg 1omuo))
P609CAS |  9EILb9 2 z ¢ z | e e f—
CeIL-b9 - 4 ; T £ € jorIu0)) A1RI[IXny SUIAOW
‘ :m,w_w-vo B N K w £ _ 14 ol! ey Areiixny poxry |«ds» “M“wmﬂ_-cu
LTIL$9 (4 . 4 _ € 4 10RIU0) UIRN SUIAOIN pue
9609TS | 9ZILH9 R : " omuop urey poxta | “Ngmnoy O
_80az | seiv9 | swMOsL| T : .« |z | HOA ¥T 110D
£809TOW 691L-v9 I I z I sprdwo) ., 4 ,, 10107IU0Y) ur]
£809CON 0TIL$9 WI, N 1 - I z m I roeedwo) N, J010BIU0D) 98Ivy)D
onosusogy | onura | asunpey |0 | AT smea gy | apang sondiseq Sty
Suparo) sarndg jodaqq !

SHOA 0£T PU® Q11 "M §°CT 3PN dYBN-O-MelIS D'V 11 B pus | JIe]\

35



~ ‘
C/ZE6L-FY 'ON i8I
. ,ﬁ , . e .| a0pwIN)
1L1L-v9 sy 9 1 M Z , € I apdwo) Jojoruo) Junaeg Suueg
I S _ - - S R ‘
v [—- - e Youms
$859-+9 1 1 i Z I youmg poadg oulug poadg osuSuy
SSA09 T1L9-%9 SWyO Ov | C [4 £ 1 o douesisay ATrvydsKq Yo-in) eng
SSU09 696519 swyO 71 , C [4 € 1 T eouesisay Awouody yo-ind eng
1€6L-V9 SWyo 6 | i z ré 1 T Qoue)sisay 9fiey) Kianeq S30UE)SISAY
0€6L-v9 SwyQ Sy 1 [4 C 1 T doumsisoy AdieyD Areneq ,
_ : — —— - _ ploudjog
3 | pELSYY SO SL (4 C £ I TTONOA T 1IOD JO-InD Jand Jo-;) g
096%-19 | 4 [4 4 I ) " ding 3unesuadwo)
Aﬂ — T Kepo(q [euLray J,
B _ 656V-19 SwqoO 6¢ 1 | [4 [4 £ 1 ) ding 131e0Hy ey
$15£SD 8999-¥9 — — (4 1 are[dwmo) Aefa( [euuay ], 19yearg NndID D
6£0€THS 8899-%9 (4 [4 € [4 TaguLy oTI0) FUIAON
0£0ETHS $899-+9 [4 [4 £ [4 o ’ euo) jralyg Jqeaag
2699-9 s 8¢ I ! [4 1 “UONOA $T 110D Aepey WD
YI0ETON 611L-+9 I 1 (4 1 ’ v sjpepdwo) Aejoy
ooy | onwea | o Mg s el L suwd s | R i | s
I A 15159y suneron soals soded] N uondrrsag PIBOQEPINMS

SHOA 0£T Pue (LT "M $°T 3pIqn) SNEN-O-11e)S

D'V I el

36



1/2€6L-¥9 "ON ']

9ELL-V9 I I 4 I ‘sdury $-0-¢ D' [81d L F1 1010wy BEIES 7|
1LY9THS LYIL-V9 < < < 1 Sundg uimay 1v'IU0))
€029T31S IILV9 14 (4 (4 I Sundg arnjemnry
WIL-b9 z ( £ I SR rIu0) SurAopy
OSTL¥9 N 4 [4 , 1 I MaIDS 10BIUOD) POXI]
R91L-V9 4 [4 £ I *tOSIOA 011 [10D salIag Aoy peoT
EPIL-v9 B 4 4 ¢t I oo "t SIOA O£ [10D) $o1IaS
o ehiLb9 | swHO S/ |t € I T SoA vz 1100 uomomed
181920 |  LEILH9 T T ooidwon vy proT
8609T3IS |  SEiLbo ¢ < £ z Sunadg 10e1U07)
P609ZNS |  9E1Lb9 ¢ |z € z T Sundg emeuny
| TELLYd - 4 < € € o 't 10RIU0) AIRMIXNY SUIAO
eI | e € | v 9 =TT Tomuop amppny poxig | «d s om0
LTILV9 4 4 € T oo 1oRIU0D) UIRJA] SUIAOIN] pue
_ 8TOAT | STILbY | SwyO L | =z € T e oA v 19D
£€8097ON | %r_,‘n-‘wc 1 1 T I ,.x R aprdwo) . d :,ESS:OU auly
€809TOW |  0ZIL b9 ! 1 T 1 swidwo) N, Jomu0) sy
onoumpy | con mra | aowmey | 90 I oweaze | oswmawn | omany | . Joonodued
_ Fupaso) sazeds jodag ,

37

SHOA 0€T Pue QL1 "M ST PN BN-O-11elS I e



S AR

B

P LS S bt

o’
™ i .
[/06CL-¥9 "ON ISI'T
“ 700 so119§ Junivls
“ g7 o junyg Arexny $319AD 09 MOA 011
. S« gg vt qunys ulep
e “  Z00 - someg Suawms§ | -
BT  unys Aepxny SaPAD 0§ HOA 08T
swyo g6 Junyg we
STIOD A'131d O JdAIDNVILISISHY IVI0L
LELLY9 1 B DA CA0Se  uoissarddng douaiajiaug JISUIPUO))
LITL-¥9 4 - - - Ue A - MISL6E ‘ON
—— — . . 0) dn s[ro)
997L-t9 ré 10D Sunteis pue Areljixny pauiquio)) saunpReN Pty
S9TLV9 v IR sdS AAV™ED W/W 07 X § X 0T DV | MIser N
. ——— A —— | ojdm saysnig
Y9TL-v9 v 9NH AV Jrx L x L o oa | PuRE
€97L-V9 9 . v
_— Sunadg ysmag
79CLv9 14 oa
19CL-+9 14 * * * oV
_ IIPIOH ysnag
097L-v9 14 : sjpurdg ystug Y vjdwo)
6SCTL-¥9 I oomeg X LT X 1 OIS puyg 2AL(-UON
—_ — sduueag
8STL¥9 I med ¥ x ¥¢ x ¥1 €I'ST 9ZIS pug sang
*ON MBd WS Iad ‘oN uondusaq s)uduodwo))

SYHAINNAN TVINAS SAAS

«M» HIIMA SHOLVNUYALTV

ISIT sueg aiedS [onuo)) ITLJOA puB JI0JBUBIY

38



(R TR -

¢/06CLv9 ON IS

ISI'] sed aaedg jonuo)) IFBI[OA PUEB I0)BUII)V

“ 68100 soeg Junamg
“ vz o unyg Aremxny s[04 09 ICA O11
“ oS unys utepy
68100 salag Suniels
:I s¢¢ wnyg Areixny sapAD 0S  NOA 05T
swyo 9 T wunys utejy
S110D ATdId 40 dAIDNVLISISIY 'IVLIOL
LELL-VO 1 NI DA A 0sg  uorssazddng souaragraluy - 1oSuIpuo))
SYRL-19 C B e * h uie|y * MISL6E
— — e — N i sAoqe s[Io))
Yy8L-+9 4 110D Sunimg pue AIRiIXny pauiquo) SoUNPIEIA PR
S9CL-t9 b - B cgS AAVYD W/W 07 X § X 0T OV | ASISET
S T, B S aA0qe saysnag
12LLY9 v 9NH FAVUD S x L Fx 1 Doq | PUetH
€9TL-V9 9 ) ' OV L.
— I _ - R Suuadg ysnmag
79TLV9 14 | oa
19CL-+9 v o . " —
S S O e . Jap[ol ysnag
09CL-+9 14 e appuidg ysnig yim Mapduwod g
sy | 0| wa T OPSW TP AN | g
8STLY9 | I e LE x Lfe x LE1 €1'STT Q7S pug sauq
——— e e ST T -
*ON 1ied __ 196 19d "ON uondirsa(g sjusuoduro)
SUAAINNAN TVIHAS SHIYAS « M HLIM SHOLVNUALTV i

39



'seoedg juawadepday (v o panddns aq [iim 19VTI
"SOUIYORIA MOJ ISI1 31 O3 paNI] OV AL sapasiadng [9VTl 1oy

€/06TL-v9 'ON I'T

hﬂ@@lvc .H . e X e . .6 (X3 X1 .6 Om .b CMHN
o . ——— — adue)sisdyy Suuag
L5699 1 = osdwy 67 swyo §'¢ 09 T OH
YrOL-¥9 I 98 ‘08 ‘vL 0 " ‘N DMS 91Xz 198 < 05  0£L 23010
SYOL 19 1 GE 1€ ‘Sz ‘0 @ sSwddel ‘DO’ OMSEIXT LSE 09 T OIT
ov0L-+9 I 0S 0£Z sonuou S
9v0L-+9 1 Tovzi oddL, 09 0TI
61/0S0L-+9 1 oo “« oo “ 0§ ogg | A0jemday
PRI unys
61/0SOL-V9 I sduy $  swyO 1 SAPLD 09 HMOA 011
oON v«._a.m 33§ a3d ‘0N =o=aw‘_umuﬁ syusuodwo)

RN TEeRE R

SHAAINNN TVIMAS SATIAS «M» HIIM SUYOLVNYALTV

ISy sueg asedg jonuo) agde)joA pue I0jBU)Y



L gl igN

1/16TL¥9 ON W'l

“ o TLro soueg Junawis
- ve wnys Areiixny sopAD 09 IOA 011
“ 969 wunys uley
*TLYo so110g BuUnIvIS :
“ s Junys Areqony Sk 0§ NOA 0£T
swyo 79°¢ unys uIepy
STI0D A1dId 40 AINVISISHY TVIOL
08¢L-¥9 1% | :OU souag Junimg pue :EE ‘Krei[ixny pauiquio)) s[Io) pRIA
- v LT LT & € a1, m.r .||
QN‘NN\ .wu@ w i o ) Y24 X 4 v,‘!@] 8‘@--:
8LTL-V9 4 owo opran Lf x B DOV
LLTL-P9 wl T i \\il T SO A4 Sundg ysnag
9LTL-V9 14 oa
SLTLYY b “ vl
- IIpIoH usnig
pLZLDY p go_aaoo 0da |
| 1| A Reh GSW T s | chonenog
cLTL-v9 1 , ooy LE X Lte x L1 €1 ST oS pud 2ALQ A
‘ON Med yag 1ad "oN ’ uondiasaqg \ sjuauodwio)

Lbr—SEF ¥ STb—98€ ‘SON '1VINAS "SAIRIAS YOPYL HLIM YOLVNYALTV

U] speg oredg jonuo) I3e)OA Ppue 10)BURNY

-

e

™

41



A ARaaE -

T/16TLv9 ON 8

LS69%9 | P oo . = os oo |
i DR SRR SRS DuE)sIsdy Surun |
LS69¥9 | P sdwy 67 swyo ¢ 09 T 0l
WoLv9 | 1 | 0L 09 ‘05 "0 e sfurddey "D’ D>'@ "®p LTLO LOL T 0SS T O0tT | . 300
£YOL-v9 ﬂ 1 09 ‘0S “0¢ ‘0 e sfuidde] DDA LLO X .SITTLOY 09 01l
9v0L¥9 I - - . 9vel o0 ot | L
B e e e e - —_—— S I T I9IHPY
68TL-VY I _ SpvyglradAL 09 Ol
02/0S0L-+9 I e - T R ¢ 1 0 4
S T T T L] aoen3ay .
L1/0SOLV9 I ) sduy 9 swyQ§ soPAD 09 NOA 01 pI3Lg unys
oN Med 128 I9d *ON uonduasa(q sjuauodwio)
Lbb—SEP ® SIF—98€ 'SON IVINAS “SANNAS UOrUL HLIM HOLVNALLTY

1517 speq daedg [onuo) d3e)0A PpuB I0JBUBRIV

42



[ B

1/CP8L-Y9

‘ON

1811

.

91L0’0

sy

sauleg Sunums

$0

gl

wnyg Aseijixny

unyg urey

|

SOPOAD 08

OA 0LC

STOD ATdId 40 FONVLSISAY TV.LOL

0v8L-19

.

\
t
I

6t8L-v9

BEBLVY

i

‘ON Mrd

!

!
v!v <+ | <! <

NS Jad "o

1453 I

NI DA A 0001 uolssaiddng 90uaIajIau]

.

“  HSWD

JqIonI) :nw._cZ?O@w

i

x xBTS

ooy LFx LYe x LE1 g1 s

uondiadsa(y

azis

s[10) sauag Sunaelg v:q ‘En_z .\Cn:_xa\ pauiquio))

91 8 e
Wt X ¢ OV

! | -
L8 X L0 7 0d

O 4
—_c_mmo,_. o'd

ureiN O'd

vV

.

- 9dwo) "D'A

SALI(J-UON

v:w AL

1Is5UIPUO))

site) PRI

saysnag

Sundy ysnay

IpIoy ysnag
s3uueog

syuuodwo)

‘SHAAIWNAN "IVIYAS SHIMIS  HOPS9,, HLIM SYOLVNAUILTV

ISI] sueqd aaedg [onuo) IBeIOA pue Iojeuidd|y

—

./ \v



C/TP8L-¥9 "ON 1517

SOLLV9 I Tosdwy oy Auey o Swyo ¢ ¢ g
1LLLY9 1 (2274 REC0N H s
T
sdury SWYQO ¢ soph
‘ON] Meq Jag Jad 0N wondunsa(g

‘e

.

0¢e

0€T

D 0S oA 0gg

RuesIsay
Sunuminy
punoduio)

By

.-3«_-.&3‘%
PRI junyg

Syusuodwo)

SYAIIWNN  "TVINAS SHIYIS . AOPS9, H.LIM SHOLVNIALTV
ST sueg auedg jonuo) 33ejjoA pue J0jRUId) Y

44



